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ovpm r € R
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21D DYTY ONNY INTY 0200 XD 1 DAN , D70 0N N¥IAPA DIDDN TYUND
P90 DONTN NYOOND NITINN DX 1IAND ONTN MY

AJ CINJ orpm I, J DONTN M DI .2.36 DIWYD
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921 ,2 NN 939 YO fi, fo, g1, g2 € Zlx] M D 1YW M) ONTN KD
-v 12 ,0Map 0N fi, g1 NPOOON NOAN

(2f1 +xf2) (391 + 2g2) = 6 + 2°
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JI+J=R

AT =1N0J W ,0000p07p 1, J DRV INVIN 299N DN RO .2.39 9990
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PR LDONTND D100 THY 150 AN VIV IO
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WNT NI ORTN 93120 N IURY IRDR NIPY () NN ORTN 3.1 7970
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YD OUNT NN (2, ) ONTRD Q[z] N2 3.4 wyn
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JURI OINN NN Z/nZ 10 YTy DNRY IRT
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R-v »an .0 # z € Z(R) > 299N a0 nn N0 Z(R) 5 720 WwRI )\
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